BONDO SUB-COUNTY JOINT EVALUATION EXAMINATIONS-2021.
231/1-BIOLOGY PAPER 1

MARKING SCHEME
1.
a) Golgi apparatus/Golgi body;
           b) i) Packaging of glycol-proteins;

               ii) Formation of Lysosomes;
               iii) Secretion of synthesized proteins/Secretion of enzymes;

2.
i) Entamoeba histolytica;
          ii) Schistosoma japonicum;    Acc. Schistosoma spp
3.
a)
Site for photosynthesis;

b) i)
Grana/granum;

    ii)
Stroma;
4.
i) Emulsification;

           ii) Provide an alkaline medium for the functioning of pancreatic enzyme;

           iii) Neutralize the acidic chyme from the stomach;
                                                MARK 1ST TWO.
5.
i) Arachnida;

ii) Crustacea;
6.
i) Root nodule; Rej Nodule alone.
           ii) Rhizobium bacteria/ Nitrogen fixing bacteria;
          iii) Fixing nitrogen// converts nitrogen into nitrates for the plant;

7.
i) Ribonucleic acid; Rej RNA

          ii) Presence of Uracil;

          iii) C-T-G-A-T-C-T-G-C;
8.
a) Ethene/Ethylene;
           b) Florigen;

           c) Abscissic acid;

9.
a) Cell differentiation;

           b) White Blood Cell;

           c) 1- Epithelium;

               2- Smooth muscle;
10.
a)
CO2 produced  =  18;  = 0.69 = 0.7;


O2 consumed        26



b)
lipids; Acc. Fats & oils

c)
i) Provides information on the type of substrate oxidised;


ii) Gives information on the type of respiration/metabolism taking place;
11.
a)  i)
Y – Gill raker;  Rej rakers

     ii)
Z – Gill bar;

b) i) Thin walled for faster diffusion of respiratory gases;
    ii) Highly vascularised/dense network of blood capillaries to transport the respiratory

                gases;
12.
a)
Osmosis;

b)
Hypotonic;

           c)        The parenchyma cells on the cut surface absorbed water by osmosis; they became 

                      turgid/expanded; the epidermal cells have cuticle and did not absorb water causing the

                      outward bending;
13.
The adult elephant has a smaller surface area to volume ratio; it loses heat slowly to the

           environment; hence flaps it’s ears many times (to create air currents around the body) to
           cool the body; ACC. THE CONVERSE.
14.
a)      Pseudopodium;
           b)      Phagocytosis;

           c)      White blood cells;
15.
a) 
Horse and donkey do not belong to the same species;

b)
64/2 +62/2 = 32+31; = 63;
16.
a)
Homologous structures have a common embryonic origin but are modified to perform

                      different functions in different species; Analogous structures have different embryonic 

                      origins but modified to perform the same function;
b)
It involves the study and comparison of different embryos; Vertebrate embryos in their early stages of development, show resemblance/similarities (eg all possess a tail); this suggests that they had a common ancestral origin;
17.
i)
Motor neurone;
           ii)        Cell body is at one end of the axon;

           iii)      



;      NB: From cell body towards the terminal dendrites.

18.
a)      A-  Hepatic portal Vein;
                    B-   Hepatic Vein;

           b) i)  A;    Acc. Hepatic portal vein.

               ii) B;     Acc. Hepatic vein

19.
a)    Calcium ion;         Rej  Ca2+
                 b)    Vitamin K;

20.
a)    Nephron;
           b)    Reabsorption of water;

           c)    Aldosterone;
           d)    i) Long and coiled to provide a large SA for reabsorption;

                  ii) Coiling reduces the speed of flow of the filtrate and allow more time for reabsorption;

                  iii) Cells lining the tubule have numerous mitochondria to provide energy for (active) 

                        reabsorption;
                  iv) The cells have micro-villi to increase the SA for reabsorption;
                   v) Is supplied with numerous blood capillaries for transportation of reabsorbed 

                       substances;
                                         MARK 1ST THREE.
21.
a)    The transfer of pollen grains from an anther
 to the stigma;
b)     i) Dioecism;
        ii) Protandry

        iii) Protogyny;

        iv) Heterostyly; Acc. Anthers located below the stigma
        v) Self sterility;

                                                            MARK 1ST TWO.
22.
i) It stimulates the liver cells to convert excess glucose into glycogen/fats for storage;


           ii) It inhibits conversion of glycogen into glucose in the liver;
           iii) Increases oxidation of glucose to yield energy;

23.
a)    Secondary growth;
           b)    A- Primary phloem;

           c)     Cells divide by mitosis to form secondary phloem and secondary Xylem/ For secondary;
24.
a)
Thoracic vertebra;

b)
i) Long neural spine for attachment of muscles;
ii) Short transverse processes that bear tubercular facets for articulation with
     tuberculum of the rib;
 iii) Presence of capitular demifacets on the centrum that articulates with 
      capitulum of the rib;

                                            MARK ANY ONE. 
25.      i) Manufacture their own food by Photosynthesis;
           ii) Pollination is carried out by wind or insects;

           iii) Disperse their fruits/seeds through wind, animals or self-explosive mechanism;

iv) Absorb/obtain water and mineral salts from the soil by their roots;
                                                                   MARK ANY THREE.
                                                        ------------ END -----------
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